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Part I Listening Comprehension (20 minutes)

Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a ques-
tion will be asked about what was said. Both the conversation and the question will be spoken on-
ly once. After each question there will be a pause. During the pause, you must read the four
choices marked A, B, C, and D, and decide which is the best answer. Then mark the corre-
sponding letter on the Answer Sheet with a single line through the center.
Example: You will hear :
M: When shall we start our work, Jane?
W: Tomorrow at 9 o’ clock. But we must work quickly, for we have to finish every-
thing before 2 in the aftemoon.
Q: For how long can they work?
You will read :
A)2 hours. B)3 hours. C)4 hours. D)5 hours.
From the conversation we know that the two were talking about some work they will start at 9
o’ clock in the morning and have to finish at 2 in the afternoon. Therefore D)“5 hours” is the
correct answer. You should choose [ D] on the Answer Sheet and mark it with a single line
through the center.
Sample Answer tAT [B] [C] [D]
1.A)That is a great idea.
B)It is easier to find a job compared with language major.
C)1t is difficult to land a job in the future.
D)Lt is not tough to find a job.
2.A)The driving officer is giving a practical test on driving.
B) The woman is taking a written test on driving.

C)They are talking about the driving test.
D) They are taking about the behavior of motorists.
3.A)Lock the computer lab later. B)Leave with the woman.
C)Buy a new lock for the computer lab. D)Show the woman where the computer lab is.

4.A)Most people in America read newspapers.

B)She is overweight like most Americans.

C)She needs to take less luggage on the plane.

D)She could win a bet on how much weight she can lose.
5.A)The man is smart enough to take six courses.

B) The man has a lot of different interests.

C) First-year students usually take many courses.

D) The man is taking too many courses for his first semester.
6.A)Neither of them likes violent movies.

B) They agree that movies should reflect life.
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C) They have different views on violent movies.
D) Violent movies shouldn’t be shown in public places.
7.A)Call to his office. B)Solve the problem he has in the office.
C)Look after his kid. D) Wait for an hour.
8.A)She can’t understand the man.
B)She doesn’t like the man’s idea.
C)That’s feasible to carry it out.
D) That’s a good means of relaxation and recreation.
9.A)A plane has crashed.
B) The airport has been closed down due to the bad weather.
C) The pilots have refused to fly the planes.
D)A bomb has been dropped on the airport.

10.A) To take some medicine. B)To have a rest at home.
C)To dance around immediately. D)To take some of her mother’s herbal medicine.
Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some
questions. Both the passage and the question will be spoken only once. After you hear a ques-
tion, you must choose the best answer from the four choices marked A, B, C and D, then mark
the corresponding letter on the Answer Sheet with a single line through the center.

Passage One

Questions 11 to 13 are based on the passage you have just heard.

11.A)Energy conservation. B) Transportation of the future.
C)Strip cities. D) Advantages of air transportation over railroads.
12.A)It uses nuclear energy. B)It rests on a cushion of pressurized air.

C)It flies over magnetically activated tracks.  D)It uses a device similar to a jet engine.
13.A)It is more comfortable than a conventional train.

B)It doesn’t require very much track maintenance.

C)It doesn’t remain in any station very long.

D)It carries more passengers than a conventional train.

Passage Two A
Questions 14 to 16 are based on the passage you have just heard.
14. A) They are both poets. B)They were both unmarried.
C)They were both sociable. D) They seldom left their hometown.
15.A)Short. B)Imaginative..
C)Original. D)Having limited themes.
16.A)She came off a respectable life.
B)She lived a solitary life.

C)She was proud of her success as a poet.

D) She received little college education.
Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A)Some people buy things they do not want.
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B)Some people are afraid to behave in a confident manner.
C) There are many superiors around you.
D) Some people think too highly of themselves.

18.A)Some people have a low self-image.
B) There is always someone around who knows better.
C)Salesman talk people into buying things they don’t want.
D) People don’t share the common knowledge.

19.A) To make people start to doubt themselves.
B)To show people they have a right to be themselves.
C)To help people to become a superior.
D) To help people to leam to be aggressive.

20.A)To take an AT course. B)To go to see a superior.
C)To talk with Dr. Albert. D)To speak out for themselves.
Part I Reading Comprehension (35 minutes)

Directions: There are 4 reading passages in this part. Each passage is followed by some questions or unfin-
ished statements. For each of them there are four choices marked A), B), C)and D). You
should decide on the best choice and mark the corresponding letter on Answer Sheet with a single
line through the center.

Passage One

Questions 21 to 25 are based on the following passage : uU @ ;171 Nurl L /\;1
| An Asian engineer is assigned to a U.S. lab and almuost suffers a nervous breakdown. A U.S. ex _e_cqu/

tells his staff he’s going to treat them fairly—and dissension. A Japanese manager is promoted by his

British president, but within six months asks for a transfer.

2. Each of these real-life cases involved people who were regarded as superior employees, but were ill-e-
quipped to cope with the complexities and dangers of intercultural management.

3 “Multi-national companies have studied everything else, now they’ 1 finally looking at culture.” Says
Clifford Clark, founder and president of a company, a small company that specializes in teaching business
people from different cultures how to communicate and work with each other.

‘f~ “Never show the shoe to an Arab, never arrive on time for a party in Brazil, and in Japan, don’t think

‘yes’ means ‘yes’,” advise American consultants Jack and Brown who have produced a series of films and a
book to help managers lmpmve the:rmnemanonal business skill. But simply leaming the social “dos” and
“don’ts” is not the answer, acoondmg to the specialists.

}’ For example, the American manager who promised to be fair thought he was telling his Japanese staff
that their hard work would be rewarded, but when some workers received higher salary increases than others,
there were complaints. “You told us_yon’d be fair, and you lied to us.” Accused one salesman. “It took me
a year and a half,” sighed the American, “to realize that ‘fair’ to my staff, meant being treated equally.”

L The Asian engineer who suffered in America was the victim of another mistaken expectation. “He was ac-
customed to the warm group environmént so typlcal in Japan, ” said his manager, “but in our company, we’re
all expected to be self starters.’
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The Japanese manager who failed to respond to his promotion couldn’t bring himselﬂtau\s{e_ﬂwl di-
rect language needed to communicate with his London-based superiors. “I used to think all this talk about cul-
tural communication was a lot of baloney(#1%/\if),” says Flank, president of Intel Japan Ltd. “Now, I can
see it’s a real problem. Miscommunication has slower our ability to coordinate with our home office. ”

That’s why Intel began an intercultural training program this spring which Flank expects will reduce deci-
sion-making time now lost in making sure the Americans and the Japanese understand each other.

\\ 21. 'Ihe best title for this passage would be .

\/ S A)Bmldmg Bndgeﬁ over the Cultural Rivers Vv
B) Multirationial Training for Businesstfien *
C)Leaming Different 'I'hmkmg Pattems o ®

D) The Way to Get Promotion ' 4 "x d
, 22.Which of ﬂle following statements is_true according to the passage?
A) Intercultural communication i important for managers. ¢

B) Cultural difference may lead to better perfonnanoe of the workers.
C)Inhercultmal communication is kgy to the, success of multinational companies.
D) Training programs can lead to pmmotlons for an individual worker.
23. According to the author, which of the followmg strategies should be adopted?
+ A)To train the staff so as to improve the commﬁﬁicanonbetween different cultures..
Managers should be grateful for promotions. S v
C) All'workers should be equal in work. . *
D)Workers in multinational comganies should leam a second language.
24. According to the passage, Japanese workers 5 |
% A)usually work by themselves and independefitly
B)usually work in groups and they are not independent
C)like the same salary increases for everyone
D)believe that hard work should be rewarded v
) 25.Which of the following statements is TRUE according to the passage?
A)The Japanese people say things more directly than the Americans.
B) The Americans have a dlﬁereqt method in mot!vatlng the workers.
C)Working hard usually leads to pay mcreasw and promotions.
D) Intercultural programs may reduce nusmdetstamhng and deasnon—makmg time. v
Passage Two
Questions 26 to 30are based on the following passage :

Particles that radiate from decaying radon (%) atoms can destroy the living cells they strike and increase
WMMMC%MMMM/M Researchers have now directly demonstrated that
neighboring cells not suffering direct hits can be harmed, too. They’ ve also taken a step toward showing how
this type of radiation, called alpha particles, indirectly hurts those bystanders.

Radon derives from the decay of uranium (ffi) and seeps naturally into the air from the ground. It's the
primary environmental source of alpha particles, which contribute to cancer risk by causing aberrations (4 %)
in DNA. Alpha particles from inhaled radon are second only to smoking as a cause of lung cancer.

> o z : 3 ’ ;
Because a person :t;expom__n;e;_alpﬁl%apa:ﬁd‘estyplmllylslow, researchers have had to estimate public
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health threats from radon by guess from the effects of higher doses of alpha radiation. Such data comes pri-
marily from studies .of swrvivors of the atomic bombs that destroyed Hiroshima and Nagasaki in Japan. The
custon:f;;é&l_x—apo]aﬁon (#EM ) assumes that cancer risk is proportional to the dose of radiation even at low
doses.

Radiation’s effects in cell cultures don’t necessarily reflect what happens in “a whole organism, with its
full range of defense-repair mechanisms,” says Duport. Processes such as DNA repair and cell death triggered
by radiation damage could cancel the effect on by-stander cells observed in the lab, he suggests.

Furthermore, while a bystander eﬁ'ect can contribute to cancer, other-cell-to-cell interactions in living tis-
sue “may relieve increased risk,” says Barry Michael, a radiation biophysicist at the Gray Cancer Institute in
Northwood, England. One of these interactions halts cell division and hence cancer. “The jury is still out on
whether cell-to-cell effects lead to a greater or lower risk, ”Michael says. P
26.The passage’s main topicjs

A)The experiment done by researchers.

B) Uranium is the key Kkiller of neighboring cells

C) Cell-to-cell interaction can make up for the hurt cells. (>
D)Bystander cells can be indirectly damaged by alpha particles/

27. Alpha particles directly M
A)decaying uranium B)decaying radon atoms’’ '\//
C)air from the ground D)radiation particles

28. Which of the following is ’rﬂl{, for alpha partieles? ;
A)they are the second Kkillers to smoking as cause of lung cancer. v
B) They can compensate for the abnormal DNA. *
C)High dosage and low dosage of them have the same effect on people’s health. %
29.How does the researchexs conduct the study?
A)By studying the data got from the survivors who had experienced atomic radiation. v
B)By carrying out the experiments in the lab.
C)By studying the features of radon and uranium.
]y D)By studying the features of radon and uranium.
30. From the passage, we can know the tone of the author j

A) argumentative B)factual
C) conjectural (#EH#Y) D)authoritative
Passages Three

Questions 31 to 35 are based on the following passage :

Green plant food stores the sin’s energy Many creatures depend directly upon green plants for food,
These plant eaters include small beings such as insects and large beings such as deer, kangaroos, and ele-
phants, Whether they feed on leaves, barks, roots, fruit or seeds, the plant eaters convert food made by
green plants into the tissues of their own bodies.

Atthenextstagemthe cycle are the axmm]sﬂlatprey on the plant eaters. The animal eaters include
many small animals, insects, shrews, lizards—along wuh reptiles, birds, and mammals like wolves and the
great cats. Whenever one of these eats a plant eater, it obtains the energy stored first, in the green plants and
then, in the plant eater. Some of the predators also get magratﬂMMndbypmmonmmamwm
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as when a hawk eats a snake. Some animals, such as bears, eat plants and animals.

Food plays a vital part in keeping forest life in balance. There is only so much food available for each kind .-
of animal. When the population of a species grows too large, there is insufficient food and some die. When
the population shrinks too much, there is abundant food and more animals survive, bringing the population
back to the normal.

1t Sometimes, however, a particular species of animal can increase greatly. When this occurs, the entire
way of forest life is threatened. About twenty-five years ago such a change occurred in a forest high in the
Rocky Mountains.

In this forest lived a kind of beetle the size of a housefly. The larvae (41 8) of these beetles fed on the
spruces (=42 ), occasionally kKilling an old or diseased tree. Healthy tress protected themselves by flow of
resin(#}§ ) that killed many beetle larvae. Additional protection came from woodpeckers and various insects
that ate larvae.

¢ Then a severe windstorm swept the forest. Many of the spruces were blown over but remained alive for a
time. They were weak, however, and could not produce much resin. In these tress the beetle larvae could
feed safely, and the beetles began to multiply. In three years, there were so many beetles that they were
killing healthy trees as well as weak trees. Within six years, they had destroyed enough timber to build houses
for nearly two million people.

31. They passage mainly discusses
A)the life in a forest
& B)the key function of green plants played in the food chain
C)plant and animal eaters y(
D) protection of green plants
32. According to the author, if the population of a certain kind of animals grows too large,
A) the number of plant eaters will be reduced |
B)the foodchain vill be destroyed |

W

C)the natural hvmg envmonment will be damaged \ A

D) green plants are plenty j g ¢
33.The cycle of the forest life is comggs@_af the following except _ ¢
A)green plants A B)plant taters
C)animal eaters _/ D)human being ‘(
34. Which of the following plays the key role in the forest life in balance?
A)Insects. VB)Food C) Animals. D) Humans:

35. Which of the following statements does the example in para. 6____% )
A)“When the population shrinks too much, mem.xsabmldantfoodandmomalmnals

B) “Many creatures depend directly upon green plants for food.”
C)“In these trees the beetle larvae could feed safely and the beetles began to multiply. ” )
Vv D)“When this occurs, the entire way of forest life is threatened.”
Passage Four
Question 36 to 40 are based on the following passage :
Software piracy problems exist and have been exacerbated(fil&])in recent years due to IS overload, de-
centralized purchasing, budget constraints, general user and corporate management attitudes, mm-

."E
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edge of the @mgtil@s, and mw(glw. Most organizations have not managed their software very
effectively. Determining the extent of the problem is a time-consuming process.

The industry’s response has been to form trade associations to educate the public about the copyright law
and to aggressively pursue pirates. Some of the largest PC companies have set up their own in-house programs
to combat the problem.

Corporate exposure is increasing due to the need to manage more machines, software and on-line and In-
temet access. Civil and criminal penalties for copyright infringement ({Z4X) have stiffened. As a result, trade
association resources have increased significantly as well as calls to hotlines from unhappy employees due to
corporate downsizing.

When infringing software is reported, the company is at risk of embarrassing litigation (iffi2) for copy-
right infringement. The company will most probably lose as the copyright holder usually has a * s_xuo_kingwg}m"
based on reports from former employees or other whistle blowers. There is also the simple fact mr
how hard the IS staff try, there are and always will be copies of software programs that cannot be validated
(iE3Z) by purchasing records. They, coming from home, are created by otherwise conscientious employees
trying to get their jobs done or just unauthorized copies created by cost conscious managers and employees.
Intemet access only increases problems as software is downloaded from sites worldw1de

A soﬁ:ware w reduce the risks from using com\terfelt or copied software and help
avoxd damage from viruses and corrupt programs. By conducting an audlt before mﬁmgement is reported the
coxporanon will r\eglge;n:s exposure.

It is easy to inventory software programs on any particular machine. However, matching the software to
the licensing documents is no easy task. Interpreting the variety of software license takes familiarity with in-
dustry business and licensing practices. Networks make the task much more complex. Intemet access com-

pounds the problem.

Employers should set guidelines for when and how to download software and data from on-line services
and the Internet. Most software vendors maintain on-line support and provide the ability to download bug fixes
and program updates. However, one dad virus can wreak (i) havoc (JEBER) throughout a company’s
networks and shut down the whole system. Firewall technology that controls access to and from outside sys-
terns can help. Information systems staff should work with management to develop policies that reduce risk
but reflect the level of openness that suits a particular company’s corporate culture.
36.This passage aims at providi &

A)software companies «\ /Q ,.ﬁ; \B’)busin&ﬂs companies
C)lawmakers o { D) corporate employees &
37.What is the role of Intemet, in software piracy? )
Altisa weaponbggg.nst software piracy. ¥
B)1t is an accessory o software piracy. _s
C)1t is the most Ttant cause of software piracy.
D)1t has nothing to do with software piracy.
38.“Smoking gun”in ﬂlewh means ;

A)reports ,f%'om' rmer employees \ﬁ) irrefutable evidence
C)delator (%K) D)trade associations
39.The authgr believes that ”

A)an audit before infringement will solve the problem of corporate exposure to software piracy
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B) employees should be encouraged to bring software from home
C)viruses can be downloaded from the Intemet_ -
D)software licenses are all similar ¢

w.meamwradvis&hﬂonnaﬁmsystﬂmsmﬁmwpd(vﬁm@gmm_@_@g' policies because

A)they are in charge of making policies X

B)they are responsible for avoidance of software piracy «f
C)they are familiar with the company’s corporate culture
D)they are frequently the actual wrong-doers

Part 11 Vocabulary (20 minutes)

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked
A), B), C)and D). Choose the ONE answer that best completes the sentence. Then mark the
ing letter on the Answer Sheet with the single line through the center.

&tl.lf&d\mp ive present here makes his usual speech, memeetingwillbepmmn or more than an
hour.
A) expanded 4] K _Bprolonged Bk \aﬂielayed ]yen& D) exceeded ,@a{, + l(y
&Z.B&orenlovmgtoﬁ\enewhousemmeomersideofmedtymizebeﬁl the old one and the fumni-
ture.
A)dispensed B) discarded b('ll@o_se;d‘;& 4, Pischarged
v 3. Nowadays many young people buy their houses on Ilige‘pug_l_lase and paid monthly
A) investments B) requirements C) arrangements D)installments
. The new tourist hotel will have for more than one thousand people.
A) convenience /B)w\odanons C) capability D) capacities
. Dangerous chemicals may through the soil into rivers. Free dumping of wastes should be prohib-
ited.
AJSpread B) permeate C)perplex D)filter
\//] . The number of the tickets will be determined by the size of the stadium.
A)adaptable B)acceptable C)advisable _Pavailable
kl’[headmsarecuveredin blood to make it look as though they are injured.
A) Mo B) false _2fmitati D)mock
i ee injury may his chances of winning the tournament.
A) enforce /Ba/enhance C)ix—’m_air D)injure
db&'lheplacedidn’tappwtobepcpu]ar, for it was completely deserted, and in any case to traf-
fic.
A)inadequate BYinaccessible C)incompatible D)insignificant
\B).'Ihatymmgmzmisavexy adorwhoomﬂdplayac‘l_o__wnoraldngwiﬂ\ecmalsldl]s.
A)vulgar B)verbal C) meticulous D)versatile
1. When business is , there is usually an obvious increase in unemployment.
A)degraded la)dg,u_msedE p €Freduced D)lessened
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